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show interfaces {interface_id}

[T

show interfaces GigabitEthernet0/1

(I

debug interface {interface_id}

[

debug interface GigabitEthernet0/1

2.0 P

[0 P IO

debug ip packet

(11 ACLTTITITIIIIIT]

debug ip packet detail

3. 11110 MAC [11]

[IT1T] MAC [T

debug ethernet mac



4. 11 VLAN[T

] VLAN [IT]

debug vlan packet

>. [IITITT] STPII

debug spanning-tree events

6.0 ACL [IIII

0 ACLOITITITIITIIIIIT]

debug ip access-list

7. [T

show debugging

8. [IIIIT]
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undebug all

[T

no debug all

(IT1T]

T debug [MITTITTTIITIIITITI CPU
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(M0 logging buffer (11 syslog[TITTITT I ITTITTITTIIIT]
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